LearnCBSE.in

CBSE Class 9 Sanskrit

& Afgd

SAHTAT

PIG Y
YIT-TTH -1

WRE : FAE | | quiigT: 90
g 'H’
srafea-aramaeayg (10 37E=T:)
1. () U&9E Ia-—- 1+1=2
(i) ferferem (ii) we-wE
(1) quiaTeR IR 1+41=2

(i) WS T - U TS Tl TR W e i
(ii) N oAy e -wriY =T HEa W SeArea et |

(11n) Py T 1+1+1+1=4
i) (%) awrE: (i} (%)=
(i) (%) Tafaam (iv) (%) =
(TV) wireiehm— 2
WAy ; s el s o vinds)
TEFATHE raq (15 3r=@T:)
TEHEA— Veb W+ Y+ Y+t =5
(i) STt (i) FErE! (iii) == (iv) e
(v) witemam {vi) = (vii) HEEAH (viii) 79
(ix) e (x)
Fersratag— 2+2+2+2+2=10

(i) o sreme Taarerd wTeTfeam: st

(ii) ©rN: SR

(iii) = B wwa wrafa

(iv) s ferarerd men: wf ) famg 3t gaf: ==fa
(v) wrefeed s afteforsme. waf
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W — 2424242+42=10
() =l w: i fed w0l

(i) wfer wE e e

(iii) =ara T sEEa: i

{iv) =T =i s s =900

(v) o & |t asfa i = et

HWHT AR (30 37r==0T:)
4. (3 (i) == (i) ¥4 1+1=2
() (iii) 9 {iv) To%en 1+1=2
5. wierEag— 1+1+1+1+1=5
(i (W) T+ wEAY (ii) (=) wig+ oy
(iii) (T) =y {iv) (#) wasq + L
(v) () &7
6. FrEETIO— 141+1+141=5
i (%) TEwm (i) (=) foam
i) (1) M@ {iv) (a) fawsq
(v) (%) yfa
7. argEfor— 1+14+14+1+1=5
i) (=) sfrafa (i) (=) ===
{iii) (®) H== (iv) () ==
(v) () 99
8. Fowafavern whm— 141414141=5
(i) wm (if) T (iii) F&=
{iv) HrarrEmary (v) msm
9. wfr-wed— 1+4141+14+1+41=6
(i) = (ii) = (i) W+ T
(iv) T = (v) = (vi) fafam
o muE (W
ufEa-arastam (35 IrE=HT:)
10. TN
() wwwEs FTa— Vet ta=1
(i) T (ii) Hfee (TR IR
(1) MM- 2
A T A TR ETE: 75 T S
111y Fdvmary Twma— 141=2
(i) (=) THTA (i) (%) T99=
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() TEwEs IA— Yo+ Yam1
(i) szi (i) formmy
(1) quiemer I — 2
ToRR: T W Frpreed e
111y Ferdwmrpary T — 1+41=2
(i) (=) sferires; (ii) (W) Tem
12, A~
() e FATA— Vet to=1
(i) I (i) TresT:
(1) quiere Ivra— 2
T A A AT — AW | W SV 7
(1) ey T — 1+1=2
(i) (=) diem (ii) (%) T
13. wrand:— 1+1+1+1=4

(i) (3) 7= . Sl 5 T, wEfaam =6 =06

(i) (3) v Sfn gfer g

(iii) (2) farsgatt =menfy 3 swika

(iv) (3) T = Tl amrm sf Saafs aq o fafae @ vl

14. 3=9:
(=) (i) s (i) Fvaftrr
(i) 7% (iv) fanirrd “+W+th+th=2
(= (i) W (i) B
(i) werer (iv) =z VeVittheam2
15. wyAtmi— 1+1+1+1=4
(1) o i sy ? (2) fom 7 srqumm ?
(3) ; ra famfy 7 v ? (4) ¥4 % vfrgen:?
16. WZATEHH HATAT] — Vet Vot Yo+ Vot Vot Yot ot Yo = 4
(vi), (i), (iii), (v), (viii), (iv), (vii), (ii)
17. (30 aefeam— 1+1=2
(i) () T (i) (=) W@
(3m i — “+¥%+¥%h+¥=2
(i) WRH:-Fw: (i) TR
(iii) e (iv) =reg-3a
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